


Drugs affecting adrenergic and cholinergic system:
1. Cholinergic agonists.
2. Cholinergic antagonists.
3. Adrenergic agonists.
4. Adrenergic antagonists.

Drugs affecting adrenergic and cholinergic system

Cholinergic agonists







Actions of Pilocarpine and carbachol and 
atropine on the iris and ciliary muscle



Myasthenia is anAutoimmune disease in which antibodies complex with nicotinic
receptors at the neuromuscular junction to cause skeletal muscle weakness and fatigue.



They are quite lipid-soluble and well absorbed from the skin, lung, gut, and conjunctiva 
thereby making them dangerous to humans and highly effective as insecticides.
+ they penerate the blood-brain barrier freely



Cholinergic Antagonist





Antimuscarinic Agents:
A. Atropine.
B. Scopolamine.
*Competition of atropine and scopolamine 
with acetylcholine for the muscarinic receptor.

https://youtu.be/k0T2sT3_RTg



Adrenergic Agonists







Adrenergic antagonists









Thank you !"
ناحتمAا ةليل اهوسردت مع اونوكت ام براي ةبيهر ظفح ةيمك اهيف ةرضاح"ا

 Dنه واG ما تنسونا من دعواتكم # #❤ بالتوفيق يارب  الى هنا انتهت مادة ا"يد 
❤❤ بحاجة لدعوة منكم 



Quiz Time ⏳

1)Which of the following drugs could theoretically improve asthma symptoms?
A. Bethanechol 
B. Pilocarpine
C. Pyridostigmine 
D. Atropine

2)Sarin is a nerve gas that is an organophosphate cholinesterase inhibitor. 
Which agent could be used as an antidote to sarin poisoning?
A. Pilocarpine
B. Carbachol
C. Atropine
D. Physostigmine

3)Which drug is useful in treating sinus bradycardia?
A. Atropine
B. Cisatracurium 
C. Neostigmine
D. Succinylcholine

4)Which of the following is correct regarding responses mediated by 
adrenergic receptors?
A. Stimulation of a1 receptors increases blood pressure.
B. Stimulation of sympathetic presynaptic B receptors increases 
norepinephrine release.
C. Stimulation of B receptors increases heart rate (tachycardia).
D. Stimulationof B receptors causes bronchoconstriction.



5)A 22-year-old male is brought to the emergency room with suspected cocaine 
overdose. Which of the following symptoms is most likely in this patient?
A. Hypertension
B. Bronchoconstriction
C. Bradycardia
D. Miosis (constriction of pupil)

6)A12-year-old boy with a peanut allergy is brought to the emergency room after 
accidental consumption of peanuts. He is in anaphylactic shock. Which of the following 
drugs is most appropriate to treat this patient?
A. Norepinephrine
 B. Phenylephrine 
C. Dobutamine
D. Epinephrine

7)A 50-year-old male was in anaphylactic shock after being stung by a hornet. The 
medical team tried to reverse the bronchoconstriction and hypotension using 
epinephrine; however, the patient did not fully respond to the treatment. The patient's 
wife mentioned that he is taking a prescription medication for blood pressure. Which 
medication is he most likely taking that contributed to a reduced response to 
epinephrine?
A. Doxazosin 
B. Propranolol 
C. Metoprolol 
D. Acebutolol

8)cause of death in organophosphate toxicity is:
A. Bradycardia
B. Increased bronchial secretions
C. Paralysis of the respiratory muscles
D. Depressionoftherespiratorycenter
E. All of the above



9)Alpha-1 agonists cause reflex bradycardia, which can be blocked by:
A. atenolol
B. atropine
C. mirtazapine
D. phenylephrine
E. propranolol

10)Following pretreatment with a muscarinic receptor blocking agent, the IV 
administration of norepinephrine is likely to result in:
A. ↑HRand↑BP
B. ↑HRand↓BP
C. ↓HRand↓BP
D. ↓HRand↑BP
E. no effect on HR, but ↑ BP

11) Commonalities of the sympathetic, parasympathetic, and somatic nervous 
systems involve which of the following neuroeffector transmitters?
(A) Acetylcholine.                          (B) Dopamine
(C) Epinephrine.                             (D) Norepinephrine 
(E) Serotonin

12)A 47-year-old man is given atropine to decrease dental secretions during a 
root canal procedure. This agent is most likely to have an effect on which of the 
following target organs/glands?
(A) Adrenal medulla
 (B) Kidney
(C) Pilomotor muscles
 (D) Salivary glands
 (E) Sweat glands



13)A 38-year-old woman presents to the ophthalmologist for a routine eye examination. 
She is given intraocular pilocarpine. She was supposed to be administered two drops in 
each to dilate the eyes for the examination. Unfortunately, the eyedrops were administered 
by a new technician who inadvertently administered 10 drops of pilocarpine in each eye. 
Which of the following agents should be immediately given to the patient?
(A) Atropine
(B) Carbachol
(C) Donepezil
(D) Galantamine 
(E) Rivastigmine

14)A medical student is performing a summer research project evaluating the 
pharmacologic effects of atro- pine at varying doses. Doses are extrapolated from normal 
human doses of this agent. Slow infusion of this agent to a steady state dose of 0.5 mg 
would be expected to produce which of the following effects?
(A) Bradykinesia
(B) Coma
(C) Dilation of the pupils
(D) Dry mouth
(E) Tachycardia
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لا تفوح رائحة الكعك الزكیة إلا حین تمسھا حرارة الفرن. كذلك أحلامنا 
لن تنضج مالم تمسھا قسوة التجارب!

 !" كیف بس التشبیھ 


